°
- 3 | —
si= &l 2t220|= DIN 950
=5 MY/MIE o0l x|
oY
ME
g20lE HE &
™A AR0OIE 3MA O8] AR S EE AY A5
M Itse dR0IE 3TA O, AE S £, ol 2 L HM 1]
nl-;';.|E|
#EM o022
s o=
A Al
AMZ AT S{E e ECLAE IR HE &
=M
DIN 39/ DIN 98
l |
_ n-;‘ & cv;“
ol Q 8 T U Q
_‘_T_% 1
LN
r _ *
|
L3
DIN 6885-1
B3
7/
i
U
!
1
ES Y%
si= £l 2t=20[= DIN 950
FEHS EEE DI D2 D3L1L3B3 T XNEZ 183 JAANE ERER==
DIN 39 E+Ql E DIN 98 E+Ql E
K0160.0080X10 ZA0[EIZ 2297 80 10H7 24 16 29 - - 3 N -

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



si= &l 2t==0|= DIN 950

EZS 29
FEHS ZE DI D2 D3L1L3B3 T X&= DY A HE NS E a7
DIN 39 El2| E DIN 98 E}2| E
K0160.0080X12 ERNEEREE I 80 12H7 24 16 29 - - 3 - -
K0160.0100X10 2 0|8E &R 100 10H7 26 17 33 - - 3 - -
K0160.0100X12 20leE &2 100 12H7 26 17 33 - - 3 - -
K0160.0125X12 Zo|ElE &% 125 12H7 28 18 36 - - 3 - -
K0160.0125X14 2 0|8E &5 125 14H7 28 18 36 - - 3 - -
K0160.0140X14 Z0|gE &R 140 14H7 30 1939 - - 3 - -
K0160.0140X16 2AoIEE &2 140 16H7 30 19 39 - - 3 - -
K0160.0160X14 2 0|8E &5 160 14H7 32 20 40 - - 3 - -
K0160.0160X16 2AoIEE &R 160 16H7 32 20 40 - - 3 - -
K0160.0180X16 2Ao|EE &2 180 16H7 37 22 43 - - 3 - -
K0160.0180X18 2 0|8E &R 180 18H7 37 22 43 - - 3 - -
K0160.0200X18 Z70|ElZ &89 200 18H7 38 24 45 - - 3 - -
K0160.0200X22 2Ao|EE &2 200 22H7 38 24 45 - - 3 - -
K0160.0250X22 Z70|8& &RA%U 250 22H7 45 28 50 - - 5 - -
K0160.0250X26 Z70|ElZ &89 250 26H7 45 28 50 - - 5 - -
K0160.0315X26 2A0|EE &2 315 26H7 53 3356 - - 5 - -
K0160.0315X30 270|182 &R% 315 30H7 53 3356 - - 5 - -
K0160.0400X30 Z70|El&Z £2¢! 400 30H7 65 3863 - - 5 - -
K0160.0400X34 2A0IEE &2 400 34H7 65 38 63 - - 5 - -
K0160.0500X34 Z70|8E &R% 500 34H7 78 4572 - - 5 - -
K0160.0500X40 2AoIEE &R 500 40H7 78 4572 - - 5 - -
K0160.1080X10 2AoIEE &2 80 10H7 24 16 29 3 11,4 3 - -
K0160.1080X12 2A0|eE &2 80 12H7 24 16 29 4 13,8 3 - -
K0160.1100X10 2AoIEE &R 100 10H7 26 17 33 3 114 3 - -
K0160.1100X12 2A0lgE &2 100 12H7 26 17 33 4 13,8 3 - -
K0160.1125X12 2ZA0|EE &2 125 12H7 28 18 36 4 13,8 3 - -
K0160.1125X14 27A0|eE &2 125 14H7 28 18 36 5 16,3 3 - -
K0160.1140X14 2A0lgE &2 140 14H7 30 1939 5 16,3 3 - -
K0160.1140X16 2ZA0lgE &2 140 16H7 30 19 39 5 183 3 - -
K0160.1160X14 2AoIEE &R 160 14H7 32 20 40 5 16,3 3 - -
K0160.1160X16 2A0EE &2 160 16H7 32 20 40 5 18,3 3 - -
K0160.1180X16 2A0|eE &2 180 16H7 37 22 43 5 183 3 - -
K0160.1180X18 2AoIEE &R 180 18H7 37 22 43 6 20,8 3 - -
K0160.1200X18 270|282 &8% 200 18H7 38 24 45 6 20,8 3 - -
K0160.1200X22 EF0|ElZ &8Q 200 22H7 38 24 45 6 24,8 3 - -
K0160.1250X22 2AoIEE &R 250 22H7 45 28 50 6 24,8 5 - -
K0160.1250X26 Z70|8& &8% 250 26H7 45 28 50 8 29,3 5 - -
K0160.1315X26 E270|8& &89 315 26H7 53 33 56 8 29,3 5 - -
K0160.1315X30 2AoIEE &R 315 30H7 53 3356 8 33,3 5 - -
K0160.1400X30 270|282 £8% 400 30H7 65 38 63 8 33,3 5 - -
K0160.1400X34 Z70|ElZ £2Q! 400 34H7 65 38 63 10 37,3 5 - -
K0160.1500X34 2AoIEE &R 500 34H7 78 45 72 10 37,3 5 - -
K0160.1500X40 Z70|8& &R 500 40H7 78 45 72 12 43,3 5 - -
K0160.2080X10 2IolEE &R 80 10H7 24 16 29 - - 3 216 x M6 x 50 -
K0160.2080X12 ZIo|ElE &% 80 12H7 24 16 29 - - 3 216 x M6 x 50 -
K0160.2100X10 2 0|8E &5 100 10H7 26 17 33 - - 3 216 x M6 x 50 -
K0160.2100X12 270|8E &2 100 12H7 26 17 33 - - 3 216 x M6 x 50 -
K0160.2125X12 Zo|elE &% 125 12H7 28 18 36 - - 3 220 x M8 x 64 -
K0160.2125X14 2 0|8E &5 125 14H7 28 18 36 - - 3 220 x M8 x 64 -
K0160.2140X14 270|8E &2 140 14H7 30 1939 - - 3 220 x M8 x 64 -
K0160.2140X16 ZolElE &% 140 16H7 30 1939 - - 3 220 x M8 x 64 -
K0160.2160X14 2 0|8E &R 160 14H7 32 20 40 - - 3 225 x M10 x 80 -
K0160.2160X16 2AoIEE &R 160 16H7 32 20 40 - - 3 225 x M10 x 80 -
K0160.2180X16 2A0|eE &Y 180 16H7 37 22 43 - - 3 225 x M10 x 80 -
K0160.2180X18 2 0|8E &R 180 18H7 37 22 43 - - 3 225 x M10 x 80 -
K0160.2200X18 2AoIEE &R 200 18H7 38 24 45 - - 3 225 x M10 x 80 -
K0160.2200X22 2A0IEE &2 200 22H7 38 24 45 - - 3 225 x M10 x 80 -
K0160.2250X22 270|ElZ &89 250 22H7 45 28 50 - - 5 232 x M12 x 100 -
K0160.2250X26 2AoIEE &R 250 26H7 45 28 50 - - 5 232 x M12 x 100 -
K0160.2315X26 270|ElZ &8¢! 315 26H7 53 3356 - - 5 232 x M12 x 100 -
K0160.2315X30 270|ElZ &8¢! 315 30H7 53 3356 - - 5 232 x M12 x 100 -
K0160.2400X30 2AoIEE &R 400 30H7 65 38 63 - - 5 236 x M16 x 112 -
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



°
= ] | -
si= &l 2t220|= DIN 950
EZS 29
FEHS =T D1 D2 D3L1L3B3 T Xz I3 J[H FHE 3|ME = a8
DIN 39 El2| E DIN 98 E}2| E
K0160.2400X34 270|822 2% 400 34H7 65 38 63 - - 5 236 x M16 x 112 -
K0160.2500X34 270|ElZ &89 500 34H7 78 4572 - - 5 236 x M16 x 112 -
K0160.2500X40 E70|E& &R% 500 40H7 78 4572 - - 5 236 x M16 x 112 -
K0160.3080X10 2A0|gE &2 80 10H7 24 16 29 3 114 3 216 x M6 x 50 -
K0160.3080X12 2A0RE &2 80 12H7 24 16 29 4 13,8 3 216 x M6 x 50 -
K0160.3100X10 2A0|EE 2T 100 10H7 26 17 33 3 11,4 3 216 x M6 x 50 -
K0160.3100X12 Zolelg &9 100 12H7 26 17 33 4 13,8 3 216 x M6 x 50 -
K0160.3125X12 2ZAolRE &2 125 12H7 28 18 36 4 13,8 3 220 x M8 x 64 -
K0160.3125X14 27 0|8E &2 125 14H7 28 18 36 5 16,3 3 220 x M8 x 64 -
K0160.3140X14 Zolelg &9 140 14H7 30 1939 5 16,3 3 220 x M8 x 64 -
K0160.3140X16 2 0lEE &2 140 16H7 30 19 39 5 183 3 220 x M8 x 64 -
K0160.3160X14 2FA0|8E &2 160 14H7 32 20 40 5 16,3 3 225 x M10 x 80 -
K0160.3160X16 2A0gE &2 160 16H7 32 20 40 5 18,3 3 225 x M10 x 80 -
K0160.3180X16 2A0lgE &2 180 16H7 37 22 43 5 183 3 225 x M10 x 80 -
K0160.3180X18 2AoIEE &R 180 18H7 37 22 43 6 20,8 3 225 x M10 x 80 -
K0160.3200X18 270|282 &89 200 18H7 38 24 45 6 20,8 3 225 x M10 x 80 -
K0160.3200X22 EF0|ElZ &2Q 200 22H7 38 24 45 6 24,8 3 225 x M10 x 80 -
K0160.3250X22 2AoIEE &R 250 22H7 45 28 50 6 24,8 5 232 x M12 x 100 -
K0160.3250X26 2AoIEE &2 250 26H7 45 28 50 8 29,3 5 232 x M12 x 100 -
K0160.3315X26 270|ElZ &89 315 26H7 53 33 56 8 29,3 5 232 x M12 x 100 -
K0160.3315X30 2AoIEE &R 315 30H7 53 33 56 8 33,3 5 232 x M12 x 100 -
K0160.3400X30 270|ElZ £2Q! 400 30H7 65 38 63 8 33,3 5 236 x M16 x 112 -
K0160.3400X34 E70|ElZ 229! 400 34H7 65 38 63 10 37,3 5 236 x M16 x 112 -
K0160.3500X34 E70|ElE &R 500 34H7 78 45 72 10 37,3 5 236 x M16 x 112 -
K0160.3500X40 270|ElZ &2Q! 500 40H7 78 45 72 12 43,3 5 236 x M16 x 112 -
K0160.4080X10 2 0|8E &R 80 10H7 24 16 29 - - 3 - 216 x M6 x 54.5
K0160.4080X12 2Ao|EE &R 80 12H7 24 16 29 - - 3 - 216 x M6 x 54.5
K0160.4100X10 2 0leE &R 100 10H7 26 17 33 - - 3 - 216 x M6 x 54.5
K0160.4100X12 208 E &R 100 12H7 26 17 33 - - 3 - 216 x M6 x 54.5
K0160.4125X12 2AoIEE &R 125 12H7 28 18 36 - - 3 - 220 x M8 x 67
K0160.4125X14 2A0|gE &5 125 14H7 28 18 36 - - 3 - 220 x M8 x 67
K0160.4140X14 ZA0|gE &R 140 14H7 30 1939 - - 3 - 220 x M8 x 67
K0160.4140X16 2A0|8E &2 140 16H7 30 19 39 - - 3 - 220 x M8 x 67
K0160.4160X14 ZA0lgE &2 160 14H7 32 20 40 - - 3 - 225 x M10 x 83
K0160.4160X16 ZA0|8E &R 160 16H7 32 20 40 - - 3 - 225 x M10 x 83
K0160.4180X16 2AolEE &R 180 16H7 37 22 43 - - 3 - 225 x M10 x 83
K0160.4180X18 2 0|8E &2 180 18H7 37 22 43 - - 3 - 225 x M10 x 83
K0160.4200X18 2I0|EE &R 200 18H7 38 24 45 - - 3 - 225 x M10 x 83
K0160.4200X22 Z70|El& &89 200 22H7 38 24 45 - - 3 - 225 x M10 x 83
K0160.4250X22 270|ElZ &89 250 22H7 45 28 50 - - 5 - 232 x M12 x 105,5
K0160.4250X26 Z70|ElZ &89 250 26H7 45 28 50 - - 5 - 232 x M12 x 105,5
K0160.4315X26 2Ao|EE &2 315 26H7 53 3356 - - 5 - 232 x M12 x 105,5
K0160.4315X30 270|ElZ &8¢! 315 30H7 53 3356 - - 5 - 232 x M12 x 105,5
K0160.4400X30 2IolEE &R 400 30H7 65 38 63 - - 5 - 236 x M16 x 117
K0160.4400X34 2AoIEE &2 400 34H7 65 38 63 - - 5 - 236 x M16 x 117
K0160.4500X34 270|ElZ &89 500 34H7 78 4572 - - 5 - 236 x M16 x 117
K0160.4500X40 270|EE &R 500 40H7 78 4572 - - 5 - 236 x M16 x 117
K0160.5080X10 2AolEE &2 80 10H7 24 16 29 3 11,4 3 - 216 x M6 x 54.5
K0160.5080X12 2ZAolRE &2 80 12H7 24 16 29 4 13,8 3 - 216 x M6 x 54.5
K0160.5100X10 ZIolEE &R 100 10H7 26 17 33 3 11,4 3 - 216 x M6 x 54.5
K0160.5100X12 2AoIEE XY 100 12H7 26 17 33 4 13,8 3 - 216 x M6 x 54.5
K0160.5125X12 2A0lgE &2 125 12H7 28 18 36 4 13,8 3 - 220 x M8 x 67
K0160.5125X14 2olelE &2 125 14H7 28 18 36 5 16,3 3 - 220 x M8 x 67
K0160.5140X14 2AoIEE &2 140 14H7 30 19 39 5 16,3 3 - 220 x M8 x 67
K0160.5140X16 2A0lEE &2 140 16H7 30 19 39 5 183 3 - 220 x M8 x 67
K0160.5160X14 27 0|8E &2 160 14H7 32 20 40 5 16,3 3 - 225 x M10 x 83
K0160.5160X16 2AoIEE &2 160 16H7 32 20 40 5 18,3 3 - 225 x M10 x 83
K0160.5180X16 2A0EE &2 180 16H7 37 22 43 5 183 3 - 225 x M10 x 83
K0160.5180X18 27 0|eE &2 180 18H7 37 22 43 6 20,8 3 - 225 x M10 x 83
K0160.5200X18 270|ElZ &89 200 18H7 38 24 45 6 20,8 3 - 225 x M10 x 83
K0160.5200X22 EF0|ElZ &2Q! 200 22H7 38 24 45 6 24,8 3 - 225 x M10 x 83
K0160.5250X22 Z70|ElE &2Q! 250 22H7 45 28 50 6 24,8 5 - 232 x M12 x 105,5

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



°
si= &l 2t220|= DIN 950
EZS 29
FEHS EETE D1 D2 D3L1L3B3 T XNEF hEEPIEEE EREEEL
DIN 39 E}2| E DIN 98 E}2| E
K0160.5250X26 ERNEERE I 250 26H7 45 28 50 8 29,3 5 - 232 x M12 x 105,5
K0160.5315X26 270|ElZ &89 315 26H7 53 33 56 8 29,3 5 - 232 x M12 x 105,5
K0160.5315X30 27082 ¢8% 315 30H7 53 33 56 8 33,3 5 - 232 x M12 x 105,5
K0160.5400X30 270|ElZ £2Q! 400 30H7 65 38 63 8 33,3 5 - 236 x M16 x 117
K0160.5400X34 270|ElZ 2% 400 34H7 65 38 63 10 37,3 5 - 236 x M16 x 117
K0160.5500X34 ZI0lEE &R 500 34H7 78 45 72 10 37,3 5 - 236 x M16 x 117
K0160.5500X40 2AoIEE &2 500 40H7 78 45 72 12 43,3 5 - 236 x M16 x 117

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



